1 Ay = 3c-4 919] oW T 10| H; (k, 26) 2 B} o],
ko] ke Fatolet.

D
=%



g y=x+5N x dHE q,y dHSp AL T W, a-b 9
g oot

v
m



-16
-16

V20

0.09

V8

0.01

V25
V36
V64

V4

25
11

-13

12

V15

100
120

V81
V-9

V28
Vi3

Vo
Vo
V3

16

-10

0.3

Vo.4
V18

-0.9

V49

-36

-0.3

10

-10

15




4. oF I9NA A 99 AARF 2 FAZ ol o] o, H
P(a), Q(b) oA a+ b ] k& oozt

|
N
ol
|
—_
o
[e—y
)

-
O« -
e



5. Tk BE7]oA y7t x o] dApeteql A2 25 2 Q171
H7]
@ y=-x ©y=x+5
@y:% @ y=x*-3x-4
@ y=3(2x-1) @2 3 1
@D y=0-x+4 © 0-y=x+3

@ 174 @ 270 @ 370 @ 47 ® 57



o
&

y=3x-3°lA £(2) 9

@ 2 ® 3 @ 4 ® 5

1



D 0,2VI1,3V7, -
@ 0,3V7,2V11, -
® 3+7,2V11,0, -
@ 2+11,3V7,0, -
® 3V7,2V11,0, -

Seadndngs

e S




® 2

@ 1



TS fx) = —— +1, g(x) = 2—)?—9 of thsted f(10) = a,

8(2)=b A W, -7 o g Farolet



10.

®y=2 ©y=-=+3
)1c X
© y:§x+3 ® y=-3(x+1)
@ y=x(x+1) ® xy=3
@y:xgl © y=2x
® OG,06,6 ® ©,0,6,06 ® @, 0,6
@ ©,6,.,0 ® ©,6,0,®




11. o= Fax+by+c=0°] A7} HEg Sh= 4 a, b, ¢ 9
e RE IEH?

@D a=0,b=-1,¢c=0 @ a=0,b=0,c=2
@ a=1,b=-1,c=-3 @® a=-1,b=0,¢c=3

®a=-3,b=-2,¢c=0



e

O
=

i o] fs=gko] 1001tk a + b o 3L



o] AlE

©
=

© v o

©® -9



14.

QRG-S y = 3x+k ] TALA A (<2, 1) A,

Fotofet.

D
=%



+4 0 TRt A

2
=—-X

3

Ty

oA
—_—

—

o)



ojn

33 0| B.2 §elolct.
99 = =2

©)

<k

o

-
i} L_n
& M_L
o



17. tF& S50 9Aske xhat vt AAE 2L

D2+ V3:G @5-V2:F ® 2V3+1:E

@ \/6—3:A ® ‘/§2+4:

B




18.

Va2 =4 4 o, a 9] & oot

@ 2 @ -2 Q@ +2

@ 4



19. \/(2- V52 + /(2 + V5)2 2] A& T sl

@ V5 @ 0 ® 245
@ 4 ® 2vV5+4



20. ALy =ax o I}
@ Z7F (-3, 9)E Adtr &
Qe glef 91X Sre A9 e

S ©]

Rl
o

@ (1, -3) @ (0, 0) ® (2, 6)
@ (3, -9) ® (4, -12)



